F14 Homewor k1 Problem 1
Linear Algebra, Dave Bayer

[1] Solve the following system of equations.
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[2] Using matrix multiplication, count the number of paths of length ten from w to y.
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[3] Express A as a product of elementary matrices, where
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[4] Find the matrix A such that

1 01 0 0 3
A | -1 1 1| =100 3
ERHERH
,:1 1 I:I
A=1111
1 11
Check:
1 11 1 01 00 3
1 11 -1 1 1| =100 3
HHIEEHEGH
AR=C & ARR'=cR’ = ﬂ:CBﬂl
Fnd & rzsw\-ec)uqns (e|lT) b (| €]
. O 0 . -\ ~) R | S
55 11ate check: [7( | -—z) h_}‘}]"k%g
LR g )@“@@ IRE T
Vo | 1100 Id
O 2 110 -\
o-1 1] 001 )@e@*@ CE =
(1o 100] 003\(z4- g
ol12|110 W12 =1 3323
oo 111 l@*‘%@) [88%][‘ 1 3321,
r-lo\ 2 00 COM\)\MQ\'Q’( /5 5
o\2|%20 g\nsemmm
. GO | I, l_/'\8 @eu-—@
| © 2 =) =) @*@hz@
o\ | & =L
12,
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Linear

Algebra, Dave Bayer

[5] Find the intersection of the following two affine subspaces
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